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'BOARD DIPLOMA EXAMINATION (e;oé)
| | APRIL/MAY—ZOIS
DCE—FOURTH SEMESTER EXAMI
QUANTITY SURVEYING %ﬁ A

Time : 3 hours | il i “gotaz Marks : 80
:;:__‘__L ‘455”2-:‘";
PART—A R it 3x10=30
53 ..J}:\‘;Zé?

Instructions : (1) Answer all questlons f};
(2) Each quest1onq(cames three marks.
(3) Answers should;be bnef and straight to the pomt and

shall not exceed f ge simple sentences.
&wéﬁ/
1. Write the units of mie@surement for the following :

(a) Plastering & L%
‘(b)) RCC |

(c) DPC of spemﬁed ‘width and thlckness

2. Wn%e%a short«note on plinth area method for approximate estimate.
%y"

w4
3. 4The %ect%on of steps at the front of a residential building is shown
"*’* mdt}ie{ﬁgure below :
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Calculate the volume of brick masonry in CM (1:5) for all three
steps, if the length of each step is 2:10 m.
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(1) length of the common rafter; d t 500 i
a mm i
(b) number of common raftch Space C/C":
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Note : L
Wall thickness = 300 mm '
Eaves projection = 500 mm
Rise of roof = 1700 mm

«and coarse aggregaté g2

S. Calculate the quantities of cem
ﬂyghfg 20 mm HBG me tal.

Pl’epeumg S cu.m of CC (1: 2

6. From the figure given bel%‘ﬁ
steel 6 mm ¢ @ 190 mm ¢/

Top cover (clear)i i, 25 mm fﬂ
Side cover ( leafi | 2406 mm
Pty

Bottom coye*r (cl f\%\,Jr) =15 mm
6 mm dia hafs %022 kg/m
| A«%\bv 3" &/

DISTRIBUTION )
\ 100 hick R.C.C slab
<

8@101{1@1:% the quantlty of dJStnbuti b
é regulred for bottom mat -
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7. Explain ‘trapezoidal rule’ and ‘prismoidal rule’ with usual

notations.
8. Prepare the detailed estimate for laying cement concrete
pavementof 1 : 2: 4 mix with 20 mm size HBG chips, 100 mm

thick over the base course of CC 1:4 : 8 with 40 mm size HBG
chips, 150 mm thick for a length of 500 m, if the width of the
road is 3:75 m.
9. List any six different forms of value.
10. The cost of a newly constructed building mcludln%,all
& 18,00,000. Calculate monthly rent, if the rea cn
capital is 8%. )

PART—B

Instructions : (1) Answer any five questigns.
(2) Each question carries )

(3) Answers should pé@com: £hensive and the criterion

_for valuation is tﬁe £or f%ent but not the length of the

- vkil'}-} 1
answer. &% &

11. Prepare the detailed est1m‘%te‘f‘%§%%the following items of work for a
building shown in t ﬁgureébﬁ‘fow : .
(@ CC (1:5:10) fo%%fogndatlon
(b) RR masonr§ 51%1 GM- 1% 8 for footmgs ’

,;3‘9,_;

' (c) RCC for roof slalgv

100mm THICK BRICK PARAPET

120mm THICK RCC ROOF

300mm THICK BRICK WALL

4 ,70mm THICK R.C.C SUNSHADE
230mm THICK RCC LINTEL WITH

4 100mm THICK SHAHABAD FLOORING
4" OVER RCC BED OF 150 mm TFICK IN§ £ 10
% G1

BKSE’\[EN'I‘ AND FOUNDATION
N RR MASORRYINCM 1 4
CC.1°5°10FOR
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LIBEARY CUM PIADING
ROOM 7700 X 4200 .

FOUNDATION
— p D T
e | xc CROSS - SECTION
~ LARAEIAN VERANDAR BEAM
L= MeeX2 450 X 2300 300 X40 T
‘ = ] NOTE ALL DIMENSIONS [N'mm
PLAN
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12. For the bui[lding drawing shown in the figure below, calculate the bl
quantities for the following items of work :
(a) CC bed (1:5:10) for foundation
(b) Quantity of brickwork in superstructure wall without
deductions \
(c) Sand filling in basement ‘ ;\
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i [24X3%0m ﬂ 50X 330m L.J
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a——R.C.C slab 120 mm thick

= —!».ﬂ-;‘; Ty 2 : "
[ 1= 300 mm_ brick wall inl:6 CM
e £ | A
2 2 . [l}- Polished stone flooring
@
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13. Prepare th&data*sheé’e and calculate the cost of items given below :
(a) Plain cement{co”ﬁd(‘:rete for foundations (1 : 4 : 8) unit—1 cu. m

0;%2_5113 40 mm size HBG metal
E%/ = Sand
% Cement

0-06 nos. Mason I class
Mason II class

€ ¥
= % j 0-14 nos.
= - = 1-18 nos. Man Mazdoor

1-40 nos. Women Mazdoor
LS Sundries
(b} Plastering with CM (1:6) 12 mm thick unit—10 m?

1-15 cu.m. CM (1:6)
1-10 nos. Mason
0-50 nos. Man Mazdoor
1-10 nos. Women Mazdoor
LS Sundries
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Wi 1st class Mas u'r'n‘-"”l‘f *" f"m” //1 di
- 2nd cliiss Mason , =100, ')()/'"31‘;'./.“,‘?.H
- Man Mazdoor ., T 120.00/duy, ‘
r
L 4

D 1

 Woman Mzu.dmn' 120,00 /dx
Yy Ml
‘ M) 2,

| E.‘;:,P'Ill\/[b{’in‘g‘”(;‘l/lqrgcs for CM

]

Prepare thc dala z,hcot and (;nlrjulntt‘ ihr oo, i‘/‘m
; ”rw mp‘l.ﬂ"!“

i
0 92 rn

ason ] class
asson 1l class
Man Mazdoor

Women Mazdoor
' Sundries *

f Mry in CM (1 : 6) unit—1 cu.m
cu.m Rough stone
m Bond stone o

0-34 cu.m CM (1:6)

0:54 nos. Mason 1 class
026 nos. Mason 1l class
140 nos. Man Mazdoor
1-40 nos. Women Mazdecr-
LS " Sundries

Rates of labour and materials at site :

HBG 40 mm size ¢ 440:00/1 cu.m
Sand € 200:00/1 cu.m
Cement ¢ 3,400-:00/1 cu.m
Rough stone ¢ 280:00/1 cu.m
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.- gd 1 m 100 downwards
2 1 and the bt_:d level =

at ‘A 13 250 000

the points is 20 m. |

the detaﬂed% timate for the following items for a WBM
m as shawn in the figure below :

M ply of 65 mm HBG metal for base course;

pply of gravel for sub base course; . _ _T'__Hr___
of# 40 mm HBG metal for wearing course; A

ding of gravel for sub base course and shoulders. -

’

Wearing Caurse40 mm Size HBC Metal - Base Coarse : 65mm Size HBC Metal
100 mm Thick Compacted to 75 mm Thick manmcklpmcCanptdchOOmmch

75m , 1,00m 375m / 1.00m 0]7
'@ N \ ’ =
o A i A R R AT S . Pz, .
Pk ‘ 750 5 % Z
o / . Earthem Formation \ \ .
L
7/ 3
w7 v
[Granu[ar shoulders 100mm thick
oose compacted to 75mm thick on
cither side of metaling , Granular Sub Base 225mm Thick
locse compacted to 150mm thick
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(a) Z.Reﬁlhng mth excavated ea.rth ground-

ol W

: TR e e L _L.i!'-'.'
B 9000 .
e 490 b ¢
8200
500 .

1600
A mmczma M IR e

_ J80 . 700 mm THICK ' < ~— i
- - LATERITEROUGHSTONE -~
SECTION THROUGH WELL  DRY PACKING ' s

||1 (\"*cr

‘ IH’ L L/

i 2000 000.2000
A

PLAN AT TOP

employee of a government office purchases an old building for
€ 12,00,000 based on the cost of land & 3,00,000 and cost of
building as & 9,00,000. The scrap value of the building is assumed
to be 10%. Work out the annual sinking fund at 12% interest rate,
if the residual life of the building is 20 years.

* k k
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